SRI SIDDHIVINAYAKA RESIDENTIAL SCHOOL, HATTIANGADI
COMMON ENTRANCE EXAMINATION

MODEL QUESTION PAPER

MARKS: 60 CLASS - VI TIME: 1Hr. 15Min.
ENGLISH

1)  Write the meanings: [2]
(i) require = (i) listen =
(i) victory = (iv) glance =

2)  Write the opposite word: [2]
(i) active  x (i) bitter x
(iii) beautiful x (iv) rich  x

3) Write the plural form: [2]
(i) person - (ii) leaf -
(iii) child - (iv) foot -

4)  Write the opposite gender: [2]
(i) horse - (if) nephew -
(iii) prince - (iv)uncle -

5) Add suitable preposition: [1]
(i) They travel _ bus. (by, at)
(it) The fish swim ____ the river. (in, under)

6) Frame the sentence: [1]
Country:

7)  Write an essay on: ‘My Favorite place’ [T - 8 sentences] [2]

KANNADA

8) TBY ege 2B8awd: [1]
(i) somd = (i) ™o =

9) e@Ees des 2dawd: [1]
(i) =8 - (i) O -

10) 238 208090: [1]

() seoed = + (i) goobe = +




11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

ci')dog BB 23000:

[2]

(i) 08 X (i) Fpe X
(iii) Bz X (iv) mom X
907 2D 230 O: [2]
(i) s - (i) 33 -
(i) 38 - (V) ez -
o3 @egsiey 3a0: [1]
emmqgﬁaiaﬁ -
B0G Bowd: W, DJF” ~ [/~ Bwegirivy] [2]
HINDI
aref forfEm |
(i) T (if) & [1]
Qe e AW HA| 0 _ _ _ [1]
Tet 31eR g forfaw [2]
) T+em=___________ [ar / a1
(Y +3= (& / &]
TN AT =T & 2 [1]
MATHEMATICS
Write the smallest four digit number. [1]
Voo wodad wée a3% xoai;goi)ab& 2300.
In a rectangle, the opposite sides are [1]
2,000 80HIDY PRV 2IBIIEY eI .
N 7 .63
Simplify. (Rbee9es0) " 78 [1]
Write the expanded form of the number 3356. [1]
Roals 3356 =, HJO BoWDd.
Multiply. (rbe828) 3.7 X 1.4 [1]

Write three-ten as a fraction.

[1]



25)

26)

27)

28)

29)

30)

31)

32)

33)

34)

35)

36)

37)

38)

B33e mradab& a;ad&oaéamﬁ 23000.

Find the L.C.M of 8 and 14.
8 &3 14 3 o.70.00. c?

Add (3080) : = + =

lcm= mm
1 JB0.&0e. = Q0.Qve.
Write the factors of 24.

243 OBBIEe ST, Su.
How many thousands are there in 33333337

3333333 3y xRy TedTwe3?

a. 3333 b. 333 c. 33333 d. 333333
Simplify. (Roeeesdd) 2 + [(3x 6) —12]
SCIENCE

The number of planets in our solar system is
Riabé T oBOBYWD G éozﬁ?g

The most sensitive organ in our body is
Sy, BedRB WF0T TRT, WO Jlglesicing

Is the most abundant gas present in the air.

Moroe £a§oaj BeBBDNODT Q.

The two holes of the nose are called

NI OB dogriEa, Q0T FZ030TY3.

The force of the earth attracts objects towards it.

Bpa00% 20 FYATR, WBAEDIT.

Plants respire through
OReMIED BROT YVATIIES.

The gas which we breath in

Vo) PVRTIWI VAL Jlglesicing

The natural satellite of the earth
23 od aﬁ’éxhsé OB .
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39)

40)

41)

42)

43)

44)

45)

46)

47)

48)

49)

50)

51)

Total number of bones in our body
dabé BedBYR 2ed) MY 6033?8

purifies blood.

SI AL N eﬁo%eﬁba’ogd.

The process of conversion of water to water vapour is called

edd @FI cgséosood 00 dRXE HOTBeFodterba Ggadodab, Q0T FB030I93.
Is the biggest planet in our solar system.
Ridoé ﬁad@a?@d Bed Jo=oNss.

During photosynthesis plants take in carbon dioxide and release gas.

zﬁo?géonew?é’ @“go&)oi)g xx?gr%%;‘o QOMPOT dé egﬁéc’aab& &%eDB RO
29WIB FoBIT.

One hour is equal to minutes.
200 oed QARMAEN FToR@NTITI.
What is the S.1 unit of time?

V0D JW3 eaoaaoacgeod) DBTFIOT 03T ?

GENERAL KNOWLEDGE AND SOCIAL SCIENCE

Who is the founder of Mughal dynasty?
Begges md@&}gd 30&?@6'36! 03503)?

Which part of the computer is called as the ‘brain of computer’?

@&odﬁk

BOBAREITS 03T0e3 gIoriadnd), "FOoBRgEITR SHIE’ Do F30DTrHIL?

Which is the national game of India?

20033 oae;}eoda 3ed adex)dd?

There are players in a cricket team.
2.0 8FLr I0BBY €363 00T T.
Which is the heaviest metal between Gold and Silver?

asd& AVICH) aizg - YYIPY 2700w edeed 03Tow)ud?

Which is the upper house of parliament?
o033 TO0VER shee)™ 0dre)w?
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